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EXERCISE # 1

Q.1

Q.2

Q.3

Q4

Q.5

Q.6

Q.7

Q.8

Factorise:
(i) 12x°y* + 1657y — 4x°y*
(i) 18a’b” + 36ab’ — 24a’b’

Factorise:

(i) (x + y)(2x +3y) — (2x + 3y) — (x +y) (x + 1)
(i) (x + y) (2a + b) — (3x — 2y) (2a + b)

Factorise :
(1) x2+xy+ 8x + 8y
(if) 15xy—6x+ 10y —4

(i) n—7 + 7/m — Imn

Factorise:
(i)a®>+2a+ab+2b

(ii) x> — xz + Xy — XZ

Factorise each of the following expressions:
()a’~b+ab—a

(ii) xy —ab + bx —ay

(iii) 6ab — b + 12ac — 2bc
(iv)a(a+b—c)—bc

v) a’x> + (ax2 +1)x+a

(vi) 3ax — 6ay — 8by + 4bx

Factorise:
(i) x* — 2x%y + 3xy’ — 6y°
(ii) 6ab — b> + 12ac — 2bc

Factorise :

@) x" —y*

(i) x* - (y + 2)*
(v) 3a* — 48b*

(ii) 16x* — 81
(iv) 2x — 32x°
(vi) 81x* - 121x*

Factorise each of the following algebraic
expressions:

(i) 16(2x — 1)* — 257

(i) 4a” — 9b” — 2b — 3b

(iii) x* — 4x + 4y — y*

(iv) 3—12 (a—b)?

(V) x (x+2z)—y(y +2)

(viya’—b’—a—b

Q9

Q.10

Q.11

Q.12

Q.13
Q.14
Q.15

Q.16

Q.17

Q.18

Q.19

Q.20

Q.21
Q.22

Factorise :

(i) 4x*—4xy+y’ —97°

(i) 16 —x* —2xy —y*

(i) x* — (x — 2)*

Factorise :

(i) 4(x +y)* — 28y (x + y) + 49y

(i) (2a + 3b)> + 2(2a + 3b) (2a— 3b) + (2a — 3b)’
Factorise each of the following expressions:
(i) 9x*— 4y

(i) 36x> — 12x + 1 — 25y°

(i) a® — 1 +2x — x°

Factorise:

(i) 9 —a®+2a’b’ — b°

(i) X6 _ y16 53+ y8

Factorzie: (2x + 3y)* — 5(2x + 3y)— 14
Factorise: 3m” + 24m + 36
Divide:
(1) 6X4yz - 3xy3z + 8><2yz4 by 2xyz
(i1) 2 a’b’c’ + 4 ab’c® — 1 ab’c’ by 1 abc

3 3 5 2
Divide the polynomial 2x* + 8x* + 7x* + 4x + 3
by x + 3.
Divide 10x* + 17x° — 62x* + 30x — 3 by
2x7+ 7x— 1

Divide 3y’ + 6y* + 6y° + 7y* + 8y + 9 by
3y’ + 1 and verify that
Dividend = Divisor x Quotient + Remainder

Divide 16x* + 12x” — 10x* + 8x + 20 by 4x — 3.
Also, write the quotient and remainder.

Divide 8y’ — 6y* + 4y — 1 by 4y + 2. Also,
write the quotient and the remainder.
Divide: a* —b*bya—b

2a_2b

Divide: x* + x v+ 4y4b by x4+ x‘ayb + y2b
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EXERCISE # 1

D E+y)(x+3y—-1) (i) (2x+3y) (2a+b)

(i)(a+2)(at+b) (i) x+y) (x—2)
@)(a+tb)a-1) (i) (y+b)(x—a) (iii) (b + 2¢) (6a —b)
(iv) (a+b)(a—c) V) (x+a) (ax2 +1) (vi) (3a + 4b) (x — 2y)

() (x—2y) (x> +3y")  (ii) (6a — b)(b + 2c)

() (x—y) x+y) x> +y) (i) (2x — 3) (2x +3) (4x> + 9)
(i) (x—y—2) (x +y + 2) {x*+ (y + 2)*} (iv) 2x (1 +4x%) (1 - 2x) (1 +2x)
(v) 3(a—2b) (a + 2b) (a* + 4b%) (vi) x> (9x — 11) (9x + 11)

(i) (8x — 5z —4) (8x + 52— 4) (ii) (2a + 3b) (2a—3b— 1)

(i) (x — y) (x + y — 4) (iv) 3(1 +2a— 2b) (1 — 2a + 2b)
M) (x—y)(x+y+2z) (vi)(a+b) {(a—b) -1}

1) 2x-y+3z)(2x—-y-32) (i)@+x+y)4—-x-y)

(iif) (2x* — 2xz + 2% 2x — 2)z

() 2x - 5y)° (i) 16a2

(1) Bx +2y) (3x—2y)
(i) (6x -5y —1) (6x + 5y—1)
(ii)(a-1+x)(a+1-x)

() @ -b’+3)(-a’ + b’ +3)
(i) *+y) (*—y*+ 1)
(ii)(p+q-a+b)y(ptqta-b+1)

2x+3y—-7)(2x+3y+2)
3(m+2) (m+6)

. 3 .. 4 8 2
)3x>— 2y? +4x7° ii) —abc + —bc? — Zb%c
(1) ik (1) 3 3 p

(x+3)(2C +2x° +x+ 1)

(2x> +7x — 1) (5x> — 9x + 3)

5 9 11
4y+2) |2y’ ——y+—| - —
(4y )(y 7Y 4j >

(a+b) @ +b)

2 b, 2
Xy +y
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EXERCISE # 2

Q.1

Q.2

Q.3

Q4

Q.5

Q.6

Q.7

If x and y are non-zero rational unequal

numbers, then find the value of

(x+y) —(x—y)’

X2y — xy’
| | 4 2

A — B ©) D)

Xy X—y X—y X—y
Let & - b =x:y. lf(x—y)= [3+E],then

b a b a
find the value of x -

a+b a+b
(A) (B)

b

a—-b

© (D) None of these
a

If (x — 2) is a factor of (x> + 3gx — 2q), then
find the value of q.

If x> + 6x* + 4x + k is exactly divisible by
(x + 2), then find the value of k.

Let f(x) = x> — 6x° + 11x — 6. Then, which
one of the following is not factor of f(x) ?

A)x-1 B)yx-2 (O)x+3 (D)x-3

The polynomial (x4 — 5%+ 5x° — 10x + 24)
has a factor as -

(A)x +4
(C)x +2

B)x-2
(D) None of these

(x* —x® +x" = 1) is divisible by -
(A)both(x—-1) & (x+1)

(B) (x—1) butnot by (x + 1)

(C) (x+ 1) butnotby (x—1)

(D) neither (x — 1) nor (x + 1)

Q.8

Q.9

Q.10

Q.11

Q.12

Q.13

Q.14

Q.15

Q.16

Q.17

Q.18

Q.19

Q.20

Q.21

Q.22

Value of k for which (x — 1) is a factor of
x> — k).

Find the factors of (8X3 - 27y3) -
(A) (2x — 3y) (4x> + 9y — 6xy)
(B) (2x — 3y) (4x> + 9y” + 6xy)
(C) (2x — 3y) (4x* — 9y* — 6xy)
(D) (2x — 3y) (4x> — 9y* + 6xy)

Find the factors of (x> + y3 +2x% - 2y2).
Find the factors of (x* — 5x* + 8x — 4).
Find the factors of (x4 +4).

Find the factors of (x + y)3 —-(x- y)3.

If (x° — 9x* + 12x — 14) is divided by (x — 3),
then find the remainder.

If (x'' + 1) is divided by (x + 1), then find the

remainder.

Find the value of expression (16x2 +24x +9)

forx=fé.
4

Find the sum of (x* + 1) and the reciprocal of
x*—1).

Find the factors of (x* — 1 — 2a — a?).
Find the factors of (x* — 8x — 20).
Find the factors of (x> — xy — 72y°).
Find the factors of (x> — 11xy — 60y?).

Find the factors of (x4 +x3+ 25).
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10.
12.
13.

16.

19.
22.

EXERCISE # 2

4 2.  None of these
X—-y
-8 5. x+3
(x—1)butnotby (x + 1) 8. 1
(X+y)(x2+y2+xy+2x72y)
(X +2x+2) (xX*—2x +2)
2y(3x* +y?) 14. 184
4

X

0 17.
x? -1

x—-10)(x+2) 20. (x—9y) (x+ 8y)

(x> +5+3x) (x* + 5 - 3x)

e

11.

15.
18.
21.

1

x—-2

(2x — 3y) (4x> + 9y* + 6xy)
(x-2)" (x—1)

0

(x+a+l)(x—a-1)

(x—15y) (x + 4y)
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